® MLODE

1kgf *m = 100kgf *cm = 9.8N"m ($J10N-m)
1kgf *cm = 1000kgf *cm = 0.098N m (#J0.1IN*m) = 9.8N-cm ($J10N-cm)

IN *m = 10.19gf =cm

WG D BEARE R

PaXIEN/m?|MPaX ZN/mm?| kgf/mm? kef/cm? kgf/m? m*/s cSt St
1Pa= 1 1x10° [1.019%107[1.019%x107°[1.019x 10" 1 1x10° 1x10*
1MPa= 1x10° 1 1.019x 107" 1.019x10 | 1.019%x10°| 1x10° 1 1%x107?
1kgf/mm>=| 9.806 x 10° |  9.806 1 1% 10 1x10° 1x10° 1% 107 1
1kgf/cm?= | 9.806 x 10* | 9.806 X 1072| 1x 107 1 1x10° — — -
1kgf/m’= 9.806 | 9.806x10°| 1x10° 1x10™ 1 - — —




